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M OB FoIAYRR(LA/PAAAR)
Sl XIHOIAIMIE 2% 22 (9] Mo
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oXIMfeIADHE ER2ES 2
11,614,000 x 14 11,614
Jl 9,292
Al 2,322
oXIRA0IE 2Y S
3,000,000 *14] 3,000
Jl 2,400
Al 600
oXI==0EEH XE S
160,000 522 800
Jl 640
Al 160
oXSHE JlE ARES X 423
g s 8,054,000 * 14 8,004
Jl 6,444
Al 1,610
O=2g+¢ 1,400
oXIHNIS AR E M =&
100,000& *7 & »23] 1,400
Jl 1,120
Al 280
Oogxz 11,840
od=J| gxtg 62,9002 40 122 3,020
Il 2,416
Al 604
o3JIEFEI gxt&g
48,9002 *5CH* 12 2,934
Il 2,347
Al 587
oHltl Xtz 23,9002 x150« 12 4,302
Jl 3,442
Al 860
oHIUIMA SX= 66,000 x2CH* 122 1,584
) 1,267
Al 317
Oul=s| 3,900
oXIMetdIE A2 g5
150,000& x5 & %12 750
Il 600
Al 150
oXIMCtA Il MEoIH 255
150,000 21 3,180
Il 2,520
Al 630
O=gl 11,404




2A:

S FHY T% FoAZae|(2/2A42 =)
el XNt MY 29 2t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oXIDHetAHIE A S2 A
7,224,000 *14] 7,224
Il 5,779
Al 1,445
oXIONOIAME] FEtoI S2 BjAlY|
4,180,000 * 14 4,180
Jl 3,344
Al 836
02 S5=g4l 27,480 32,744 N5, 264
O8&82= € HA 18,000,000 » 14 18,000
Jl 14,400
Al 3,600
OAIE2 &= X 5,600,000 * 14 5,600
Il 4,480
Al 1,120
Oxtgrdet] 3,880,000& *14] 3,880
Jl 3,104
Al 776
03 A= I 4,200 4,200 0
OXIo==2JI08 & XNi==2 & I8
AL 2,500,000 14| 2,500
Jl 2,000
Al 500
OXIONII=1 eiiots &&lol
1,200,000 %12 1,200
Jl 960
Al 240
OXIOHIIEL S Mok €8I0l XteF Xt
= 500,000 *1CH 500
Jl 400
Al 100
202 04| 50,265 52,305 2,040
7l 40,212
Al 10,083
01 2LHoIH 50,265 52,305 A2,040
OXIHHZ 22 ALY =& O
20,0003 x5 *102* 122 12,000
Jl 9,600
Al 2,400
OXHH B 22N HRUSE & SSuUF
595,000 *14] 595
Jl 476
Al 119
OXIoHo g2l FX(SRA)
20,0003 x19Z 82 * 12 36,480




2A:

Hu: oS ZoIAARR(2A/EAAR)
ol XIDHOHAMIEl 2% 22 (Shol: % 2)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
J| 29,184
Al 7,2%
OXIHLR2IANY H2DS U ZDS
85,000& x7H *x23| 1,190
J| 952
Al 238
301 LEIEN = 107,830 101,546 6,284
J| 86,264
Al 21,566
11 HAMAHIXI R 2 31,062 35,018 N3,956
Omxz e 2HAY| 30,822
oOIX| A3 T2 )&
3,000 * 102 %128 x127| 4,320
J| 3,456
Al 864
oXHIIEEH (BeiA)2d
3,000& x700H 2,100
J| 1,680
Al 420
oXIHHEA J|H&EH
3,000&*10H x63 *x67| 11,340
J| 9,072
Al 2,268
oY T2 )
3,000& *8H *40J A +3 7| *43] 11,520
J| 9,216
Al 2,304
oXINItE DA 3,000 82 +83|x67 | 1,182
J| 922
Al 230
o XIDHeHAOIE 2HEARAE
3,000 *x23|x50H 300
J| 240
Al 60
oXIOIOtE EMot= &€& 0l
3,000& *30H 0
J| 72
Al 18
OXIOHoHE ol 2ol 24X =2
AlH| 8,000& *30H 240
J| 192
Al 48
14 J|EI2 A= 76,768 66,528 10,240
OXIHHzAl & T2 08 2AY
80,000 x2H*103|*67 | 9,600




2A:

Hu: oS ZoIAARR(2A/EAAR)
ol XIDHOHAMIEl 2% 22 (Shol: % 2)
K- B8 S(31) - MISAY - BES Ofl by G o MimE=EY
J| 7,680
Al 1,920
Od=zY XI0HoY s 2ZAtsE
60,0002 * 1 *200 A x85|*37 | 28,800
J| 23,040
Al 5,760
ORI T2 AASS
80,000& *1H+53|* 12| 4,800
J| 3,840
Al 960
ON=DA T2 LAY
80,000 * 123 %13|*8| 640
J| 512
Al 128
O8aEoAl ESH| 2,744 0002 x 128 32,928
J| 26,342
Al 6,586
307 21Z2t0| ™ 144,512 163,612 219,100
J| 105,306
Al 39,206
01 o223 =H| 144,512 163,612 219,100
OXINZEIIZAEH(ZE A
80,000 *300H 24,000
J| 19,200
Al 4,800
OXIHZD | A X (ZEZ AN (KHAM)
80,0003 x161H 12,880
OXIHRI|ETAE S oA P2
1,000& *15,6520H 15,652
J| 12,522
Al 3,130
OXIONE R X5 E=EIMAH S) 2L
15,000 *400& 122 72,000
J| 57,600
Al 14,400
OXIONER S= L 22| %E 7Y
13,500&! * 1,480 19,980
J| 15,984
Al 3,996
405 KHAHFRI S HI 1,900 750 1,150
J| 1,520
Al 380
01 AL 2 EF S| 1,900 750 1,150
O28 7¢ 1,900
olllElE F¢ 1,100,000& 14! 1,100




A EAAMS
HE: oS FoIAAB(BA/BAAR)
Sl XIHOIAIMIE 2% 22 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 880
Al 220
cuFE ZLIE F#Y 400,000 +2CH 800
Jl 640
Al 160
AOHetyME 29 31,310 30,961 349
101 ©1AH| 31,310 30,961 349
04 JIZtN2Z2 XS E+ 31,310 30,961 349
OXIOHRHA HIE & At2te] 31,310
o012 76,9602 1 *22& * 122 20,318
oFFrd 76,9603 x1H*4F=+ 122 3,695
oMEelT BAELL
6,080 x1H*262* 12 1,897
oMNBIEER 2,600,000& x1H 2,600
o&XN= 2,700,000& 1 2,700
oZ2f= 100,000 %12 100
SSA =L =A0 23H| & 2| 1,877 1,877 0
) 1,502
Al 375
201 fer=3| 1,877 1,877 0
Il 1,502
Al 375
01 Al 22IH| 1,877 1,877 0
OBBHAQ HEH L 294)
1,877,000& *14] 1,877
Il 1,502
Al 375
HH2SZHI(ZAAL D) (OIEHIIE 1,763,891 1,650,606 113,285
= 228,662
) 580,974
& 45,732
Al 908,523
el 2| 1,621,044 1,508,731 112,313
= 228,662
Jl 580,974
= 45,732
Al 765,676
ol =gl 43,616 33,617 9,99
101 21A4H| 43,616 33,617 9,999
03 SRA(RIH )22+ 43,616 33,617 9,999
OAIZt 22+ 41,216
o<LPAZ(LEYR)
14,3113 8 *20A1 2t 12 *150% 41,216




22X BHAIG D
HzH: SN SAHAAH|(E2HAKD (DIEHDIE
SERRIEESS(T (Shol: &2)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
Oo"la22xe(220 XI) 2,400
oUPHZ(UEREXH, - 2H)
50,000 x8H x6& 2,400
SEHLZ2| A o121 434,140 424,648 9,492
= 121,512
& 24,302
Al 288,326
101 Q14| 373,668 393,147 A19,479
= 107,027
& 21,406
Al 245,235
03 SR (RINHS) 22X 22 373,668 393,147 A19,479
OgzAHZae gy dgol 373,668
ISP 2,100,270 x9H = 12& 226,830
= 97,164
& 19,433
Al 110,233
e 11,280
— <Xt 40,0003 *7F*12& 3,360
- 20,0003 x5H 12 1,200
-=M 60,0002 x4+ 12& 2,880
—AITHOI & 100,000& x2H*12& 2,400
- S22IIE(AAHEHIH)
20,0003 x6H x 12 1,440
SRS R, 35,640
RS F=E=y 200,000 x99« 12& 21,600
— g A 130,000&*9H *12& 14,040
oAt 80,0003 x9H x 12& 8,640
odIY 735,050 3 *8H *23| 11,761
oFZLY IRz 50,0002 x8H 12 4,800
odxt RIxE 105,000 *9H =10 9,459
oHAEZ O 1,260, 1702 x0H x23] 22,684
= 9,863
& 1,973
Al 10,848
SYNFAE B, 42,574
—OpAZ(LPR)
19, 7102 x99 20 Al 2t+ 12 42,574
M AZSRE3S 60,472 31,501 28,971
= 14,485
T 2,8%
Al 43,091
M Z22(2I|H) 22X BESEEHS S 60,472 31,501 28,971




A SAHAI D
MM HYSAFHI(BHAIZE D) (OIEHIIEH
s lIEE2ghl EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OYSFHOIS(2I[H2) 18 U M2 E
SL3(13 AYRERE)
291,6703x9H + 122 31,501
Of&z &g 28,971,000 & * 14! 28,971
= 14,485
& 2,8%
Al 11,590
XIOHotAldIE 2F KR 21| 928,988 844,383 84,600
J| 580,974
Al 348,014
101 @124t 781,918 793,318 211,400
| 580,974
Al 200,944
03 SRA(RINHL) 222> 781,918 793,318 A11,400
OXIOHetAldIY MEol=A 781,918
oJllEgs 2,200,000& 198+ 12& 501,600
| 401,280
Al 100,320
cItEsY 1,100,000& = 12& 13,200
J| 10,560
Al 2,640
oclNdH 75,240
S T=at=y 200,000& x 19123 45,600
| 36,480
Al 9,120
—HAZAlH| 130,000 x 19« 122 29,640
J| 23,712
Al 5,928
odI2sg 375,000& x19% 23] 14,250
| 11,400
Al 2,850
odIZFEINZ 60,000 x 123 x1H 720
| 576
Al 144
SARA2RE 82,080
—PHALR
18,0003 *20A1 2t 198 123 82,080
| 65,664
Al 16,416
oXPy 80,0002 x 19+ 12& 18,240
| 14,592
Al 3,648
oXAHXt+E 20,838,000 14 20,8838
| 16,710




A EAAMS
M HAPAZH|(SHAIL D) (OIEH/DIE
ohel: oI 23| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,178
ocEEFIHI 25,000,000& =23 50,000
oHla22 50,000 1962 5,700
04 HSRESS 147,070 51,070 96,000
04 ZRE(LIHH) 22X FHRLLS S 147,070 51,070 9,000
032X (RIHY)22X 23 S 147,070
STLX(LI|H) 22T NS
17,950,000 * 14 17,950
oZRA(RI A2 2N 2Lidz I
fE= 59,120
-20103 293 28,000,0002 14} 28,000
~IeiyeEzs 293
31,120,000 x 14 31,120
oZRA(RIH )22 X2 &2
70,000,000& *14] 70,000
Al-loT ({24l AZ 22| MHIA AFY 124 214,300 206,078 8,222
= 107,150
== 21,430
Al 85,720
101 e124d| 214,300 206,078 8,222
= 107,150
< 21,430
Al 85,720
02 JIEtAE = 214,300 206,078 8,222
OARIEEHADIAI(0tE) HS(F36AI2H)
19,480,000 »7& 136,360
= 68,180
= 13,636
Al 54,544
OZN=AHI 140,000+7E 128 11,760
= 5,880
= 1,176
Al 4,704
(OFSF= 1N 135,620& 7+ 123 11,393
= 5,697
= 1,139
Al 4,557
OE=g 80,000 7 * 128 6.720
= 3,360
= 672
Al 2,688
OJIEt=& 212,010 78~ 128 17,809
= 8,904
= 1,781




A AL
M HAPAZH|(SHAIL D) (OIEH/DIE
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 7,124
OAIZt2l ==& 9, 1602 x20A| 2H+7H 123 16,389
= 7,694
= 1,539
Al 6,156
OgItE &l 67,0103 x4 +7d 1.877
= 939
= 188
Al 750
Os&0t| 100,000 <7~ 122 8,400
= 4,200
= 840
Al 3,360
ON=2(Fe) &4 ol
85,000+7Hx2& »23] 2,380
= 1,190
= 238
Al 952
ODBEE(AMF2Y)
18,0003 +7& 128 1,512
= 756
= 151
Al 605
ogs= 100,000& »7 H*14] 700
= 350
= 70
Al 280
JlI=23sl 142,847 141,875 9r2
JI23Hl 142,847 141,875 9r2
1 Et=2EH| 109,734 109,734 0
1 AtS2teld] 43,363 43,363 0
OYurrgY| Zo4H|4
25,177,000 * 14| 25,177
Oul=H| 500,000 *14] 500
OS3RH(RIIAH )22 X2 L=l
70,0002 +8%H 560
Osgtl S9A& 10,406,000 * 14! 10,406
OZ2A(RIIA )22 Rl S
6,720,002 14! 6,720
p ZZ2H| 66,371 66,371 0
OBBL2 % MMl B%H4
24,494,000 x14] 24,494
OAEEHIS Il SHA &
21,141,000 * 14| 21,141
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